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Where:
A is the average value of a share following the rights issue (the theoretical ex-rights price) &
            M is the mid-market value of a share on the last day the shares were listed cum- rights

           The average value of a share following the rights issue (A) is computed by:



(N x M) + (R x P)

                             R + N


Where:
N
is the number of shares required to entitle the holder to "rights" shares



M
is the mid-market price of each of those shares on the last dealing day cum-rights                 


R
is the number of "rights" shares offered per N



P
is the price at which each "rights" share is offered


The number of shares in the option is then adjusted by the reciprocal of the above.


An example:

	Existing option over 1000 shares at 40p per share

Company makes 1 for 4 rights issue at 50p per share (N=4; R=1; P=50p)

Mid-market price of a share on last day listed cum-rights (M) = 65p
                                        (4 x 65p) + (1 x 50p)

Average Price
(A) = 
       1 + 4

                     =
62p per share

Adjusted option exercise price is
40 x 
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=        38.153p

Adjusted number of shares is   1000 x 
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=
1048.4 shares

Aggregate option exercise price remains as £400 (now 1048.4 shares x 38.153p each)


